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le; : 2:30 ?k.Vs ] [ iw.kk±d : 60 
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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 8 rFkk iz'u 36 gSaA  
 Please make sure that the printed pages in this question paper are 8 in number and 

it contains 36 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij 
fy[ksaA 

 The Code No. and Set on the right side of the question paper should be written by 
the candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 
 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 
 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 
strike the written answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA jksy ua0 ds vfrfjDr iz'u&i= ij vU; dqN Hkh u 
fy[ksa vkSj oSdfYid iz'uksa ds mÙkjksa ij fdlh izdkj dk fu'kku u yxk,¡A  

 Candidates must write their Roll No. on the question paper. Except Roll No. do not 
write anything on question paper and don't make any mark on answers of objective 
type questions. 
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•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k lEcU/k lEcU/k lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAesa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAesa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAesa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the correct and 
complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k % 

General Instructions : 

 (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA 
  All questions are compulsory.  

 (ii) bl ç'u-i= esa dqy 36 ç'u gSa tksfd pkjpkjpkjpkj [k.Mksa % vvvv] cccc] llll vkSj nnnn esa ck¡Vs x;s gSa % 
  This question-paper contains 36 questions which are divided into four 

Sections : 'A', 'B', 'C' and 'D'.  

 (iii) [k.M[k.M[k.M[k.M    – v %v %v %v % bl [k.M esa ç'u la[;k 1 ls 24 rd oLrqfu"B ç'u gSaA funsZ'kkuqlkj bu ç'uksa ds 
mÙkj nhft,A çR;sd ç'u 1 vad dk gSA 

  Question Nos. 1 to 24 of Section 'A' are Objective Type Questions. Answer 

these questions as per instructions. Each question carries 1 mark.  

 (iv) [k.M[k.M[k.M[k.M    – cccc    %%%% bl [k.M esa ç'u la[;k  25ls 30 rd vfry?kq mÙkjh; ç'u gSa] çR;sd ç'u 2 vadksa 
dk gSA 

  Question Nos. 25 to 30 of Section 'B' are very short answer types questions. 
Each question carries 2 marks.  

 (v) [k.M[k.M[k.M[k.M    – llll    %%%% bl [k.M esa ç'u la[;k 31ls 34 rd y?kq mÙkjh; ç'u gSa] çR;sd ç'u 3 vadksa dk 
gSA 

  Question Nos. 31 to 34 of Section 'C' are short answer type questions. Each 
question carries 3 marks.  

 (vi) [k.M[k.M[k.M[k.M    – nnnn    %%%% bl [k.M esa ç'u la[;k 35,oa 36 nh?kZ mÙkjh; ç'u gSa] çR;sd ç'u 6 vadksa dk gSA 
  Question Nos. 35 & 36 of Section 'D' are long answer type questions. Each 

question carries 6 marks.  

 (vii) [k.M[k.M[k.M[k.M    – n n n n ds nksuksa ç'uksa esa vkUrfjd fodYi fn;s x;s gSaA muesa ls ,d,d,d,d ç'u dks pquuk gSA 
  Internal choice has been provided in all two questions of Section 'D'. You have 

to attempt only one of the given choice in such questions.    
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    [k.M & [k.M & [k.M & [k.M & vvvv    
SECTION – A 

¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½    
(Objective Type Questions) 

uksV %uksV %uksV %uksV %        fuEufyf[kr cgqfodYih; iz'uksa ds lghlghlghlgh mÙkj pqfu, % 

     Choose the correct answer of the following multiple choice questions :        

  1. ikuh esa ?kqyu'khy yo.k dks fdlls ekik tkrk gS \ 1 

 ¼v½ gkbxzksehVj ¼c½ yDl ehVj 

 ¼l½ pH ehVj ¼n½ bZ0 lh0 ehVj 

 Total dissolved salt in water is measured with a : 

 (a) Hygrometer (b) Lux meter 

 (c) pH meter (d) EC meter 

  2. Å¡ph uhph ¼vuMqysfVax½ Hkwfe ds fy, mi;qDr flapkbZ fof/k gS % 1 

 ¼v½ ck<+ flapkbZ ¼c½ Qjks flapkbZ 
 ¼l½ fLizadyj flapkbZ ¼n½ csflu flapkbZ 
 The irrigation method, which is suitable in undulating lands is : 

 (a) Flood irrigation (b) Furrow irrigation 

 (c) Sprinkler irrigation (d) Basin irrigation 

  3. cjeqMk ?kkl dks Hkh dgrs gSa % 1 

 ¼v½ nwc ?kkl ¼c½ QhYM ckbUM ohM 
 ¼l½ ysEc~l DokVZj ¼n½ ØSc ?kkl 
 Bermuda grass is also known as : 

 (a) Doob grass (b) Field bind weed 

 (c) Lamb's quarter (d) Crab grass 
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  4. buesa ls dkSu&lk 'kkduk'kh ikS/kk yxkus ls igys ¼izhIykaV½ izR;kjksi.k esa iz;ksx fd;k tk ldrk gS \ 1 

 ¼v½ ,ykDyksj ¼c½ isaMhesfFkyhu 
 ¼l½ ¶ywDyksjsfyu ¼n½ ;g lHkh 
 Which of the following herbicites can be used as a preplant/transplant ? 

 (a) Alachlor (b) Pendimethalin 

 (c) Fluchloralin (d) All of these 

  5. o`f) dh izkjafHkd vof/k ds nkSjku ifÙk;ksa ij vfu;fer Hkwjs jax ds /kCcs fdlesa fn[kkbZ nsrs gSa \ 1 

 ¼v½ ysV CykbV ¼c½ MSfEiax vksQ 
 ¼l½ yhQ dyZ ¼n½ vyhZ CykbV 
 Irregular brown spots on the leaves during the early period of growth is observed 

in : 
 (a) Late blight (b) Damping off 
 (c) Leaf curl (d) Early blight 

  6. dVs gq, rus ls nwf/k;k lQsn fjlko fdl laØe.k dk ladsr gS \ 1 

 ¼v½ fuesVksM ¼c½ cSDVhfj;y 
 ¼l½ Qaxy ¼n½ ok;jy  

 Milky white ooze from a cut stem is a sign of which infection ? 

 (a) Nematode (b) Bacterial 

 (c) Fungal (d) Viral 

  7. fdl Qy ;k Qly esa dVkbZ ds ckn D;ksfjax ,d izHkkoh dk;Z ¼vkWijs'ku½ gS \ 1 

 ¼v½ cSaxu ¼c½ VekVj 
 ¼l½ dan ¼n½ fepZ 

 Curing is an effective post harvest operation in which fruit or crop ? 

 (a) Brinjal (b) Tomato 

 (c) Tuber (d) Chilli 

  8. ifjiDork ¼jkbifuax½ fdlds rst+h ls c<+us ls lEcfU/kr gS \ 1 

 ¼v½ ok"iksRltZu ¼c½ 'olu 

 ¼l½ ok"ihdj.k ¼n½ ijkx.k 
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 Ripening is associated with a rapid increase in : 

 (a) Transpiration (b) Respiration  

 (c) Evaporation (d) Pollination 

  9. cYc vkSj dan Qly lkekU;r% fdlds }kjk igq¡pk, tkrs gSa \ 1 

 ¼v½ ok;q ¼c½ f'ki 

 ¼l½ jsy ¼n½ buesa ls dksbZ ugha 

 Bulb and tuber crops are generally transported by : 

 (a) Air (b) Ship 

 (c) Rail (d) None of these  

10. lrr fodkl ds y{; fdl laxBu }kjk cuk, x, gSa \ 1 

 ¼v½ ;wukbVsM us'kUl ¼c½ yhx vkWQ us'kUl 
 ¼l½ ;wuhlsQ ¼n½ fo'o LokLF; laxBu 

 Which organization has made the sustainable development goals ? 

 (a) United Nations (b) League of Nations 

 (c) UNICEF (d) World Health Organization 

uksV %uksV %uksV %uksV %        fjDr LfjDr LfjDr LfjDr LFFFFkkuksa dh iwfrZ dhft, %kkuksa dh iwfrZ dhft, %kkuksa dh iwfrZ dhft, %kkuksa dh iwfrZ dhft, %    
        Fill in the blanks : 

11. flapkbZ ds fy, ikuh dh ---------------- pH lhek lqjf{kr ekuh tkrh gSA 1 

 …………….. pH range of water is considered safe for irrigation. 

12. ty LVªsl ds izfr laosnu'khy ikS/kksa dh ,d fo'ks"k voLFkk dks ---------------- dgrs gSaA 1 

 A particular stage of the plants that is sensitive to water stress is known           
as ….………….. . 

13. 'kgjh vkS|ksfxd {ks=ksa dk vuqipkfjr ikuh xq.koÙkk esa ---------------- gksrk gSA 1 

 The untreated water from urban-industrial areas is …………… in quality. 
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uksV %uksV %uksV %uksV %        fuEufyf[kr iz'uksa ds mÙkj ,d 'kCn,d 'kCn,d 'kCn,d 'kCn ;k okD;okD;okD;okD; esa nhft, % 
        Answer the following questions in a word or sentence :        

14. uV ?kkl dk okuLifrd uke D;k gS \ 1 

 What is the botanical name of nut grass ? 

15. f}chti=h [kjirokj dk ,d mnkgj.k fyf[k,A 1 

 Write an example of Dicot weed. 

16. yhQ dyZ ds fy, VekVj dh ,d izfrjks/kh fdLe dk mnkgj.k fyf[k,A 1 

 Write an example of resistant variety of tomato to leaf curl. 

17. xSj&DykbZeSdVsfjd lCth dk uke nhft,A 1 

 Name any non-climacteric vegetable. 

18. gjs VekVjksa dk Hk.Mkj.k rkieku D;k gksrk gS \ 1 

 What is the storage temperature for tomatoes (green) ? 

19. dVkbZ fdls dgrs gSa \ 1 

 What is harvesting ? 

20. NAFED dc LFkkfir gqvk Fkk \ 1 

 When was NAFED established ? 

21. baVjØkWfiax fdls dgrs gSa \  1 

 What is intercropping ? 

22. lnhZ ds ekSle dh ,d lCth Qly dk uke fyf[k,A 1 

 Write a name of winter season vegetable crop. 

23. lCth ekdsZfVax esa fdrus izhMksfeusVsM pSuYl gSa \ 1 

 How many channels are predominated in vegetable marketing ? 
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24. lapkj 'kCn fdl ySfVu 'kCn ls fy;k x;k gS \ 1 

 The word 'Communication' comes from which Latin word ? 

[k.M & c[k.M & c[k.M & c[k.M & c    
SECTION – B 

¼¼¼¼vfry?kq mÙkjh;vfry?kq mÙkjh;vfry?kq mÙkjh;vfry?kq mÙkjh;    iz'u½iz'u½iz'u½iz'u½    
(Very Short Answer Type Questions) 

25. Vidk flapkbZ fdl izdkj ykHknk;d gS \ 2 

 How is drip irrigation useful ? 

26. lksfM;e ,MlkWI'kZu vuqikr fdls dgrs gSa \ flapkbZ ty esa ,l0 ,0 vkj0 dk eku fdruk gksuk pkfg, \ 
2 

 What is sodium adsorption ratio (SAR) ? What should be the value of SAR in 
irrigation water ? 

27. fVyst D;k gS \ blds dk;Z fyf[k,A 2 

 What is tillage ? Write its function. 

28. eSuqvy gkjosfLVax ds ckjs esa fyf[k,A 2 

 Write about manual harvesting. 

29. izh dwfyax fdls dgrs gSa \ blds dk;Z fyf[k,A 2 

 What is pre-cooling ? Write its function. 

30. ekSf[kd lapkj dh D;k gkfu;k¡ gSa \ 2 

 What are the disadvantages of verbal communication ? 

[k.M & l[k.M & l[k.M & l[k.M & l    
SECTION – C 

¼¼¼¼y?kq mÙkjh; iz'uy?kq mÙkjh; iz'uy?kq mÙkjh; iz'uy?kq mÙkjh; iz'u½½½½    
(Short Answer Type Questions) 

31. lc-ljQsl flapkbZ ds ykHk vkSj gkfu;k¡ fyf[k,A 3 
 Write down the advantages and disadvantages of subsurface irrigation. 
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32. VekVj Qy cksjj ds fu;a=.k ds mik; D;k gSa \ 3 
 What are the control measures of tomato's fruit borer ? 

33. HkaMkj.k ds mís'; D;k gSa \ 3 
 What are the objectives of storage ? 

34. QkeZ ,dkmaVsalh dh nksgjh ys[kk iz.kkyh ds ykHk D;k gSa \ 3 
 What are the advantages of double entry system of farm accountancy ? 

[k.M & n[k.M & n[k.M & n[k.M & n    
SECTION – D 

¼¼¼¼nh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'u½½½½    
(Long Answer Type Questions)    

35. [kjirokjuk'kh yxkrs le; fdu lko/kkfu;ksa dk /;ku j[kuk pkfg, \ 6 

 What precautions should be kept in mind while applying weedicides ? 

vFkokvFkokvFkokvFkok    
OR 

 [kjirokj dks ifjHkkf"kr dhft,A bldh fo'ks"krk,¡ D;k gSa \ 6 
 Define weed. What are its characteristics ? 

36. ,d lQy m|eh ds xq.k fyf[k,A 6 

 Write down the qualities of a successful entrepreneurs. 

vFkokvFkokvFkokvFkok    

OR 

 fofHkUu ruko izcU/ku rduhdksa dk o.kZu dhft,A 6 
 Describe various stress management techniques. 
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